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(v) T Yo & Y YT Grg-arg & g7 HT |

General Instructions :

(1) Answers to questions carrying 1 mark may be from one word to one
sentence.

(it)  Answers to questions carrying 3 marks may be from 50 - 75 words.
(iii)) Answers to questions carrying 4 — 5 marks may be about 150 words.
(iv)  Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

1. ‘oxia wewg’ i giTiya i |

Define ‘Financial Management’.

2. GEN i @Yo # fayfse’ e 3ef g 2

What is meant by ‘Feedback’ in the concept of communication ?

8. U T I S AT I RO I AR FRE TRR THTRET R & ? 3P
S |

How does ‘Cost of Debt’ affect the capital structure of a company ? State.

4. 39 TSI Wl o ITdieh Aidl ol ITAN hid & ol hUAR THRHTT =1 8l JTd
2 2 Jeoi@ il |

Why do employees become lethargic when the organization uses internal

sources of recruitment ? State.
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10.

11.

12.
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“Grgfes IrareaRer’ <hl UE @ foRivad 9qrsu S SARRI/RHETNET o SII8R hl
TTfad Shidl & qe Tsh T-foxfi TicameT & &9 & % it # |

Give two characteristics of ‘Organizational Climate’ that influence the

behaviour of individuals and act as a non-financial incentive.

‘o FrdT qUT HH-IEl F YS9 o GreRHl ol {GWEIE HIFEd GE1EH TS g
fasarfea <t S aredt fafvre foraneti 4 @ s 2 | 9H9 99e[ oy 6l 37 g
a1 fafyre fspamd samsT |

‘Maintaining labour relations and union-management relations’ is one of
the specialised activities performed by Human Resource Management.
Mention any two other specialised activities of Human Resource

Management.

“gi=Te &1 ey’ 9 = SR @ 2

What is meant by ‘Management of Operations’ ?

SR 3TN & Teh dwd o &9 U IAIdT hl 379 oq13U |

Give the meaning of ‘Accountability’ as an element of delegation.

YGH o “TehTeh! ITATEOROT | o1 HiFAfId BT 8 2 Sooi@ shifaT |

What is included in ‘Technological Environment’ of business ? State.

IISHT o Teh Y o ®9 H Gisham o1 79 91T |

Give the meaning of ‘Procedure’ as a type of plan.

IS hl Teh @i o &9 § gRHTiyg hifsre |

Define organization as a structure.

‘O ALII g T Tufid foream STar @ 2
What is determined by ‘Fatigue Study’ ?
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9eTd S IATe Toh HEOH] shehdl ToAfHes o feamefl & e W $ U 391G
IR § SEga fop, @ 95a @ e oThia 3T | 91 g8 AT R QU B 6
foTu ot 3 SAE-uTE @ Tidl ¥ S=At Bl wE W FYw R | T=iv g1 I
# TR | Fga At A off TR ot e swm i Sfea gren Jaedt 3
Ao W TRl foel 78 off, foreh R e gHen we |

() 3G "rerdt 38 mgwqul fu i ggere ue gmemse e s g
< § T8l W@ T |

(i) T @ W A 1 qedi w1 3g@ o hife e 3ged w g
fopam T |

Crackers Ltd., a fire-cracker manufacturing company launched some new
products on the eve of Diwali in the market, which attracted many
buyers. To meet the increased demand the company employed children
from nearby villages. Although the products were in great demand,
appropriate safety warnings for use were not mentioned on the labels,

which led to many accidents.

(1) Identify and explain the important product related decision that

was not taken into consideration by the company.

(i1)  Also state any two values which were violated by the company.

UM TRt Irfufiem, 1986 % IRld dM-Lald SHaEe fhd YeR §
IUMTETST <l fRreprral w1 FHeamor st 3 2 9HesT |

How are consumer grievances redressed by the three-tier machinery
under Consumer Protection Act, 1986 ? Explain.

JHT HEISUT H 3T 1Al foheal i SISATcHeh SIS hl GHETST |

Explain any three organizational barriers to effective communication.



16. gl SI9R o eAfciRgd Y9t hl THATET 3

() %Y yIA
(Gi) a1
Gii) ety go

Explain the following Money Market Instruments :
1) Treasury bill
(ii)) Commercial paper

(iii) Call money

17.  SUNIEISTT o GISShIT § IJUNIH TEU o HEw o fohral qF (oGl 1 3T
IR | 3

State any three points of importance of consumer protection from the
point of view of consumers.

18. AT Ueh HITH! T TIR YR W HRIG g | H1F a9gd & JIR 39 fe7 d
8 U WM HET & AT I8 U FTOIIAR MeEgH L Fehat oft | Hream A
JMNITEH H1 TohaT | Tfoh Trslt 1afy qeh Rl S AT 794 Faad JmEi
TESE 39k IURN (S7F) GRI I8 HIS IgaH 6l 4 T3 | SEHZH HH
% HRUT 98 SR & S | fRe 9 off e ar A fama i f o T & s
Ygd % IR H YDA i | Wbl Ig HeqH g1 b 98 AU $ snrawashdis
H AW TE A Fafh TH F& 3 awhard 19t oft 1qef ® T8
of |
() 39 TG | TRl I 3gd Hd GY HISAT ohl 37 SEATIHATA! I
YT, Ud HHEse fomehl = Sugth 1g=ag # i TS 2 |
(i)  IUYH ATATIRATSI o S1G 3T Tl HISAT hl 3§l EvIHhard i ff
Tmese o 39 oneft off wgE e § | 3
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Kavya is working in a company on permanent basis. As per the job
agreement she had to work for 8 hours a day and was free to work
overtime. Kavya worked overtime. But even after working for long hours
and putting in her best efforts, no recognition was given to her by her
boss. Due to overtime she fell ill and had to take leave from her work. No
one showed concern and enquired about her health. She realised that she
was fulfilling only some of her needs while some other needs still
remained to be fulfilled.

) Identify and explain the needs of Kavya discussed in the above
para, by quoting the lines.

(i1)  Also explain two other needs of Kavya followed by the above needs,
which still remained to be satisfied.

‘SHTaETRes qHTaRer & R A 7 ? SAadTeh qAtawer 6t fohedl o farsrare
! qUsy |
What is meant by the ‘Business Environment’ ? Explain any three

features of business environment.

forfta yere o “fafa=im’ wa emarsr fofn o6 o1ed S |
Give the meaning of ‘Investment’ and ‘Dividend’ decisions of financial
management.

o fafres afer-died o1 fmior ot @ oft | S grn 3T e & Yo 9y

H IANIA 3 hael S TGl i & IU i & L 991" off | 3T &l SgH

% TTT et o W ST o SR 1 Toveryor feRem | faveror o qveTq Rt A

ot T f6

(i) 99 9N B HH HE & fou 3@ FEEl s6E W W fUse o §
TG & e ST et aeglt a5d H g W Iueed & |

(i) HieR dicgred &1 @i € fohn S iR dR-dR foeet anw
TTI-EIeH o 3cUTeT i A foham AT |

Y 7 had ARadt ¥ gran ¥ wgrar fuerft, ifug o 3eva it qfd ot gnft |

(37) 3T aftia ya-y % I I TEATHY Td qHATSY |

(@) UE gl T qodi 1 Ioch@ HINT AT HIGH FHIS Bl FEUET BT
=R 2 |




Mega Ltd. was manufacturing water-heaters. In the first year of its

operations, the revenue earned by the company was just sufficient to

meet its costs. To increase the revenue, the company analysed the

reasons of less revenue. After analysis the company decided

) to reduce the labour cost by shifting the manufacturing unit to a
backward area where labour was available at a very low rate.

(ii)) to start manufacturing solar water-heaters and reduce the
production of electric water-heaters slowly.

This will not only help in covering the risks, but also help in meeting other
objectives too.

(a) Identify and explain the objectives of management discussed
above.

(b)  State any two values which the company wanted to communicate
to the society.

22, U TS H U ‘SH=iE! o e’ ford YehR T9eeh & ? IS IR R0 <d
T 3gW@ T | 4

How is training in an organisation beneficial ‘for employees’ ? State by
giving any four reasons.

23. Tram 6 fhegl aiw fomwarsti &1 3g@ i | 5

State any five features of planning.

24, ‘“ifoes foauor’ =1 o 31 @ 2 Sk & UCh! i AU | 5

What is meant by ‘Physical Distribution’ ? Explain its major components.

25. TR U B o g TER T & | Th I 74 & foh Je-d gRI Tcdsh Afh
HI FAE dF-H &1 d fohal AT =1feq 3R 3§ 3Teh! AN W Sifgsh
AT & IEY B G TE =AM(EE, Sfafh e H g 2 fh FHrl @6
fsurea auft ahcrarEs & Tehar 8 w9 39 fafve st g fawfya w fen
S
3T Tfeee H Sfcafad HAld Td eR o fagdl sl Jgar-T Td FHemsy | 5
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Principles of Taylor and Fayol are mutually complementary. One
believed that the management should scientifically select the person and
the work assigned should suit his/her physical and intellectual
capabilities, while the other suggested that the work can be performed

more efficiently if divided into specialised tasks.

Identify and explain the principles of Fayol and Taylor referred to in the

above para.

TSl TR SR g1 I # fefeifgd SmEri W etae HIfT

i) g

(i)  emfera gfawa
(i)  femr afsr

(Gv) afawmf

(v) 3@y

Differentiate between ‘Capital Market’ and ‘Money Market’ on the basis
of the following :

1) Safety
(i1)  Expected Return
(iii) Investment outlay
(iv)  Participants
(v)  Duration
=101 % HE W R e ATl foheal = faegati i wHETsy |
HAAAT
feem wd frgeaor & e o Trey o JHEsy |
Explain any four points which highlight the importance of controlling.
OR

Explain the relationship between planning and controlling.
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foqum & FfaRea wmt 1 awgsT 6
(i)  fogum frmsE

(i)  3curg o1 TR (Teamea) wa fawm

(iii)  3cdTg T HeI-fgio

(iv) SHTHROT Ta HUfiehtor AT

AT
iy fasmoa aegetl Td Tarsti & Yadd o it IR-9R IW § A I AT
el § § Th 7, qAMY I8 §5q-H1 =131l i WO il & | U Theal
TR AT hl THTST |

Explain the following functions of marketing :
1) Marketing Planning

(i1)  Product designing and development
(iii)  Pricing of products

(iv)  Standardisation and Grading

OR

‘Though advertising is one of the most frequently used media of
promotion of goods and services, yet it attracts lot of objections.” Explain
any four such objections.

SI=Teh T A= T4 § =g STeml 9 3T=q¥e <hIfvT 6
i) o7

(i) 3™

(i)  3AfEepR

(iv) I8

(v) 99U 1 a1
(vi)  Tepid

HAYAT

Th G H Tohrgl e o HEwd i fohwal a1 forgal 6l ggrar § |Wemsy |
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Differentiate between formal and informal organization on the following
basis :

) Meaning

(i)  Origin

(ili)  Authority

(iv)  Behaviour

(v)  Flow of communication

(vi) Nature

OR

With the help of any four points, explain the importance
‘Decentralisation’ in an organization.

HIERA St hl STEATIHRATHAT I IHIIG H 0T Hehi o &9 H FfaRad
ﬁm:
(i)  SAIE™ sl Yehid

(i)  EEAT T
(iii) e gk
(iv)  3cqTed <sh

AT

GSTt | o T I I A 1ol ShIehi o €9 H FHEfRad sl qHEmsy
i) Uk yaTE feafa
(i)  EHdT ! AW
(iii) & AT
(iv) IR 99X 6l gume
10



Explain the following as factors affecting the requirements of working
capital :

(1) Nature of business
(i1)  Scale of operations
(1i1) Seasonal factors

(iv)  Production cycle

OR
Explain the following as factors affecting the choice of capital structure :
(1) Cash flow position
(ii))  Cost of equity
(ii1) Floatation cost

(iv)  Stock-market conditions
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